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33.

Several years ago, John bought three separate 6-month options on the same stock.

° Option I was an American-style put with strike price 20.

° Option II was a Bermuda-style ¢all with strike pricg 25, where exercise was
allowed at any time following an initial 3-month period of call protection.

° Option III was a European-style put with strike price 30.

When the options were bought, the stock price was 20.

When the options expired, the stock price was 26.

The table below gives the maximum and minimum stock price"’ during the 6 month period:

Time Period:

1** 3 months of Option Term

2" 3 months of Option Term

Maximum Stock Price

24

28

Minimum Stock Price

18

22

John exercised each option at the optimal time.

Rank the three options, from highest to lowest payoff.

I Exerdned @ tha overan
Minimum  stock ?V\'ce , 1.8, @ A&:

fouyelf: (20-18)4 22

(A)  I>T>II
B) I>1I>1I
©) U>1>II
D) M>>I

@ > 11> 1
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4. For a stock, you are given:.

Q) The current stock price is $50.00.

(i) 6=0.08

(iii)  The continuously compounded risk-free interest rate is » =:0.04.

(iv)  The prices for one-year European calls (C) under various strike prices (K) are shown

below:
K c PUT  TMM.EXER
$40 $9.12 499 > =40
$50 $ 4.91 e > J‘S S CE)
$60 $ 0.71 42.20 > O - a8
$70 @&w ) 214.40 > 20

You own four special put options each with one of the strike price}* listed in (iv). Each of
these put options can only be exercised immediately or one year from now.

Determine the lowest strike price for which it is optimal to exercise these special put

option(s) immediately.
exercne tua puk (¢

R Svalue of immadinda,
B)  $50 ouwwax cab. elerune

©  $60

o
D)  $70 3 "ea‘*w Eum‘:ean P@
(E)  Itisnot optimal to exercise any of these put options.-‘> W \,\0&-'\_\;:\:0' E“U’QFQQV\
P“dt \ W kq t

Use puk-c:,a\\ Faw\aﬁ Ao 3@3“ ?ux‘ Prices®
ch.?ave? 3 |
No(40) = \. (4O -0.0% _ o -0.08_

9 \1:(‘2*‘ Loe S0e. 208 . A.39
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